TH 2010E TUT04





Def. Let $A \subseteq \mathbb{R}^n$ and let $f: A \to \mathbb{R}$. Suppose $\overline{a} \in \overline{A}$. $(\overline{A} = A \cup \partial A)$ We say that L is the limit of f at \overline{a} $\lim_{x \to a} f(\overline{x}) = L$ if $\forall \epsilon = 0, \ \exists \delta = 0$ s.t. $\overline{x} \in B_{\delta}(\overline{a}) \setminus \{\overline{a}\}$ whenever RGA and O<11x-all<S we have $|f(\vec{x}) - L| < \varepsilon$ Fact: $\lim_{x \to a} f(\vec{x}) = L \iff$ when $\vec{x} \to \vec{a}$ along any path limit of f(x) exists and equals L To show lim f(x) DNE, either · find a path along which the limit DNE · find two paths s.t. the limits along these paths are different

Ex2

Show from the $\epsilon\text{-}\delta$ definition that

(a) $\lim_{(x,y,z)\to(1,2,3)} x + 2y + 3z = 14;$

Ans: a) Write
$$\vec{x} = (x, y, z)$$
, $\vec{a} = (1, 2, 3)$
Note $|x + 2y + 3z - 14| = |(x - 1) + 2(y - 2) + 3(z - 3)|$
 $\leq |x - 1| + 2|y - 2| + 3(z - 3)$
 $\leq (1 + 2 + 3) \int (x - 1)^{x} + (y - 2)^{x} (z - 3)^{2}$
 $= (1 + 2 + 3) \int (x - 1)^{x} + (y - 2)^{x} (z - 3)^{2}$
 $= 6 ||\vec{x} - \vec{a}|| < \epsilon$
Let $\epsilon = 70$ be given.
Take $\delta := \epsilon/\epsilon$ (70).
Now, if $0 < ||\vec{x} - \vec{a}|| < \delta$, then
 $|x + 2y + 3z - 14| \leq 6 ||\vec{x} - \vec{a}||$
 ≤ 68
 $= c$
Hence $\lim_{x \to 6} (x + 2y + 3z) = 14$.

Find the following limits or explain why the limits do not exist.
(a)
$$\lim_{|k|_{\infty} \to (-1)^{-1}} \frac{x^2 - xy - 2y^2}{x + y}$$
(b)
$$\lim_{|k|_{\infty} \to (0)^{-1}} \frac{x^2 - xy - 2y^2}{x + y^2}$$
(c)
$$\lim_{|k|_{\infty} \to (0)^{-1}} \frac{x^2 - xy - 2y^2}{x + y^2} = \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$
(c)
$$\lim_{|k|_{\infty} \to (0)^{-1}} \frac{x + y}{x + y^2}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$
(c)
$$\lim_{|k|_{\infty} \to (-1)^{-1}} \frac{x + y}{x + y^2}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$
(c)
$$\lim_{|k|_{\infty} \to (-1)^{-1}} \frac{x + y}{x + y^2}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$
(c)
$$\lim_{|k|_{\infty} \to (-1)^{-1}} \frac{x + y}{x + y^2}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$
(c)
$$\lim_{|k|_{\infty} \to (-1)^{-1}} \frac{x + y}{x + y^2}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$
(c)
$$\lim_{|k|_{\infty} \to (-1)^{-1}} \frac{x + y}{x + y^2}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$
(c)
$$\lim_{|k|_{\infty} \to (-1)^{-1}} \frac{x + y}{x + y^2}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$
(c)
$$\lim_{|k|_{\infty} \to (-1)^{-1}} \frac{x + y}{x + y^2}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1)^{-1}} \frac{(x + y)(x - 2y)}{(x + y)(x - 2y)}$$

$$= \lim_{|k|_{\infty} \to (-1$$

(c) $\lim_{(x,y)\to(0,0)} \frac{x^6}{x^4 + y^2}$ Ans: c) Note that , $\forall (x, y) \neq (0, 0)$ $\frac{\chi^6}{\chi^6} = \frac{\chi^4}{\chi^4}$ $\frac{\chi^6}{\chi^4 + y^2} = \frac{\chi^4}{\chi^4 + y^2}$ $\Rightarrow 0 \leq \frac{\chi^{\circ}}{\chi^{4} + \chi^{1}} \leq \chi^{2}$ Since $\lim_{(x,y) \to (0,0)} X = 0$, by Sandwich Thm, we conclude that $\frac{1}{(x,y) - (0,0)} \frac{\chi^{6}}{\chi^{4} + y^{2}} = 0$ (Method I) Using polar coordinates $\lim_{(x,y) \to (0,0)} \frac{x^{4}}{x^{4} + y^{2}} = \lim_{(x \to 0^{+})^{+}} \frac{(x \to 0)^{4}}{(x \to 0^{+} + (x \to 0)^{+})^{-1}}$ lim rt costo $r^2 cos^4 o + 8h^2 o$ Y→o+ y squeeze thm $\frac{r^2 \cos^4 \Theta}{r^2 \cos^4 \Theta + \sin^2 \Theta} + \frac{r^2 \cos^2 \Theta}{r^2 \cos^4 \Theta}$ Since <rr < [

Let $f : \mathbb{R}^2 \to \mathbb{R}$ be defined by $E_{X} 4$ $f(x,y) = \begin{cases} \frac{xy^2}{x^2 + y^4} & \text{if } (x,y) \neq (0,0); \\ 0 & \text{if } (x,y) = (0,0). \end{cases}$ Evaluate (x,y) if it exists. (Try polar coundinctes) In polar woordinates, the fin becomes, $f(r\omega, 0, r_{5i}\omega) = (r\omega, 0)(r_{5i}\omega)^{2}$ $(r \omega v)^{2} + (r \kappa \omega)^{4}$ - t cos (2 Sin 19 $610 + r^{2} + r^{2} + 19$ $= \lim_{r \to 0^+} f(r_{\omega_1 0}, r_{9ih} 0) = \begin{cases} 0 & \text{if } \omega_0 0 = 0 \\ \overline{\omega_0^* 0 + 0} = 0 & \text{if } \omega_0 0 \neq 0 \end{cases}$ = 0 for any B Can we conclude that $\lim_{(x,y) \to (o,v)} f(x,y) = 0$? NOI, lim f(raio, raino) = 0 40 is not enough

Ex 4

Let $f : \mathbb{R}^2 \to \mathbb{R}$ be defined by

$$f(x,y) = \begin{cases} \frac{xy^2}{x^2 + y^4} & \text{if } (x,y) \neq (0,0); \\ 0 & \text{if } (x,y) = (0,0). \end{cases}$$



$$E_{X}5$$
 Find

$$\lim_{(x,y,z)\to(0,0,0)} \frac{xyz}{x^2 + y^2 + z^2}$$

if it exists. (Hint: spherical coordinates)

Ans: Using spherical coordinates, $\frac{(\rho \sin \phi \cos \phi)(\rho \sin \phi \sin \phi)(\rho \cos \phi)}{\rho^2}$ $\frac{\chi \gamma z}{\chi^{L} + \gamma^{L} + z^{L}} =$ p cost sing cos o sin O Note $\rho \cos \phi \sin \phi \cos \phi \sin \theta = \rho \left[\cos \phi\right] \left[\sin \phi\right] \left[\cos \theta\right] \left[\sin \theta\right] \leq \rho$ and $\lim_{n \to \infty} p = 0$ By the squeeze thm, $\lim_{(x_7,z) \to 10,0,0} \frac{x_{\gamma z}}{x^2 + y^2 + z^2} =$ Alternative sol: Note |xy| = 2|x||y| = x + y Heme $\frac{\chi\gamma}{\chi^{2}+\gamma^{2}+z^{2}} \leq \frac{\chi^{2}+\gamma^{2}}{\chi^{2}+z^{2}}$ Since $\lim_{(x,y,z) \to 100,00} |z| = 0$, it follows from the squeeze then that $\frac{\lim_{(X_{17},2) \to (0,0,0)} X_{1}^{2} + y_{1}^{2} + z_{1}^{2}}{(X_{17},2) \to (0,0,0)} = \frac{X_{1}^{2} + y_{1}^{2} + z_{1}^{2}}{(X_{17},2) + z_{1}^{2}}$ /